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From where does Rabi Yochonon derive this — N7 32770 220 7 E)

Overview
>3 maintains that 2%wn 1°X) P17, The X na asks, ‘where does he derive this from’. nM901n
has a difficulty understanding this question.

nooIN asks:
- >N99IN Sa RNWM P91 7Y XY B5WN KaNT RNIYY 1Y NI S92 DY 9NN ON)

And if you will say; previously the X723 asked, from where did 8> derive that he
pays money but is not flogged, and now the X1 asks the opposite?!

mooIN answers:
= HNH HNNT MY N9 DIVN XINT 99D YU

And one can say that the reason the X713 asks on °"7, is because we cited the w''t» of

nnn Dnn, therefore -
- %5975 MY N1 1IPYIT X9T 1IN 399 199 NI ININD

The X nx asks, how does 5''% know that we do not expound this w"1 of nrin nnn for

this purpose that 777 1% 09wn; this is a valid question’ -
:[9993 75329 (x,2 97 11922 R1AYY 59195 19PN St MY NRNT

Since this @''t» was accepted by everyone in n17152 n2on regarding a 2123.

Summary
We ask 72 X112 on "1 only after we know of the accepted w"1 of nin nnn.

Thinking it over
How is the question, 7°% Rn, on X7, different from the question 7°% X1 on °"9?

! Presumably, this moo1n is from the 2°12> Moo,

% This would indicate that the simple assumption (the n"1%° X120) is that 2>wn WX ApY2. We require a 712 to teach
us otherwise.

? See footnote #2. The n>nw>n 87120 (logic) tells us that o2wn WX ApY2, why do we need any 71> at all?!

* It is true that the n>1¥°n X720 is D9wW» XY P12, however since we cited the w"1x which teaches us that X1 07wn
P12, how will > explain why he does not accept this w"1.

> Moo continues to explain why we cannot simply answer that >"2 does not agree with this w"13, for 127 7192p K.

% This means the w" of the word nnn. Even though the w"1 that was ¥"19% 722pn1 was not regarding D1x»1 2211, but
rather regarding wym ow7p (see footnote # 7), nevertheless it is apparent from this nMoon that the 793 (which is
required for a w"13), is not the words of a specific 109, but rather, once a word (like nrin) was 22pn1 for a W' it can
be used in many places (everywhere?).

7 The & m3 there derives a2 Mwyn from o*wp through the w"1 of nin nnn. Regarding 2°w7p the 77N writes X AN
(in 13,23 [MmR] ®7p7) and by 772 YA the 771N writes VAW AN (in 22,15 *NPa] X7pP”), therefore a certain 2109 by
ow7p (in this case a w"»Y ,;i171), applies to Twyn as well; meaning that a 7271 is W5 from Wwyn. See w"wA that the
last word "1132" in N190N should read Wwyn.

TosfosInEnglish.com



